



Name: _____

Date: _____ Score: _____

$$3.9 + 4\left(3.9 - \frac{1}{2}\right) =$$

$$(2.6 - 3.4) \times 4 + 4.5 =$$

$$5.3 \times 6 \div 3 - 2\left(\frac{1}{2} + \frac{1}{2}\right) =$$

$$2.4 \times 8 \div 2 + 3(2.2 + 3.5) =$$

$$\frac{1}{4} - 5(2.3 + 4.7) =$$

$$\frac{1}{3} + 5\left(\frac{1}{3} - \frac{1}{6}\right) =$$

$$\frac{2}{3} \times 15 \div 5 + 2\left(4.5 + \frac{1}{3}\right) =$$

$$2.9 + 5\left(3.5 - \frac{1}{5}\right) =$$

$$(5 - 3.4) \times 3 + 4.8 =$$

$$2.7 \times 6 \div 3 + 4(5.5 - 4.2) =$$



Name: _____

Date: _____ Score: _____

$$3.9 + 4(3.9 - \frac{1}{2}) = \frac{35}{2} = 17\frac{1}{2}$$

$$(2.6 - 3.4) \times 4 + 4.5 = \frac{13}{10} = 1\frac{3}{10}$$

$$5.3 \times 6 \div 3 - 2(\frac{1}{2} + \frac{1}{2}) = \frac{43}{5} = 8\frac{3}{5}$$

$$2.4 \times 8 \div 2 + 3(2.2 + 3.5) = \frac{267}{10} = 26\frac{7}{10}$$

$$\frac{1}{4} - 5(2.3 + 4.7) = (-\frac{139}{4}) = (-34\frac{3}{4})$$

$$\frac{1}{3} + 5(\frac{1}{3} - \frac{1}{6}) = \frac{7}{6} = 1\frac{1}{6}$$

$$\frac{2}{3} \times 15 \div 5 + 2(4.5 + \frac{1}{3}) = \frac{35}{3} = 11\frac{2}{3}$$

$$2.9 + 5(3.5 - \frac{1}{5}) = \frac{97}{5} = 19\frac{2}{5}$$

$$(5 - 3.4) \times 3 + 4.8 = \frac{48}{5} = 9\frac{3}{5}$$

$$2.7 \times 6 \div 3 + 4(5.5 - 4.2) = \frac{53}{5} = 10\frac{3}{5}$$